26,1 3) 25kl @yl g ausJl)

p_uu|2

2.322
—4.54

3.326
—4.462

6.606
—3.724

4.201
-8.128

6.405
—-3.794

3.7
—-8.182

0.014
-5.699

3.152
—-5.186

3.766
-5.834

8.825
-4.226

1.775
—-9.637

9.296
—-6.383

0.798
-4.102

4.288
—7.308

1.699
-4.839
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3.098
—-8.12

2.279
—/.525

1.161
—3.665

8.926
-4.375

2.798
—6.629

2w,

7.853
—4.896

7.006
—9.866

0.782
-5.913

4.85
—-6.415

8.726
-9.847
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26,1 3) 25kl @il jgausJl)

powl:

2.322

—-4.54

2,218 -

3.326
-4.462
1,136 -

6.606
—3.724
2,882

4.201
—-8.128
3,927 =

6.405
—3.794
2,611

3.7
-8.182
4,482 -

0.014
—5.699
5,685 -

3.152
—5.186
2,034 -

3.766
—5.834
2,068 -

8.825
-4.226
4,599
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1.775
—-9.637
7,862 -

9.296
—-6.383
2,913

0.798
-4.102
3,304 -

4.288
—7.308
3,02 -

1.699
-4.839
3,14 -

3.098
-8.12
5,022 -

2.279
—/.525
5,246 -

1.161
—3.665
2,504 -

8.926
-4.375
4,551

2.798
—6.629
3,831 -

2w,

7.853
—-4.896
2,957

7.006
—9.866
2,86 -

0.782
-5.913
5,131 -

4.85
—-6.415
1,565 -

8.726
-9.847
1,121 -
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